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Questions

Every bacterium of the colony contains a copy of gene of desired.

A bacteria is used in genetic engineering because of their.

Bacterial does not have an organized

The organism that contains a.... gene in its cells is called transgenic organisms.

Act as instructions to make specific proteins

Each datugher DNA contains one new strand and one strand of ........... DNA.

A gene is inserted into a bacterium by.

How do genetic engineers get insuline for diabetic patients.

Which of the following is not a biotechnology product.

Section of DNA serving as codes for developing characters in an organism are called.

Answers Choice

. Bacterial
. Protein

. DNA

. Nucleus

. Size

. Nucleus

. Gene

. Fast rate of reproduction

. DNA

. Protein
. Gene

. Nucleus

A

B

C

D

A

B

C

D

A

B

C

D

A. Additional
B. Internal
C. Foreign
D. Isolated
A. Eggs

B. Gametes
C
D
A
B
C
D
A
B
C
D
A

. Genes
. Protein

. Parent

. Sister

. Daughter

. Grand parents

. Tissue culture

. Genetic engineering
. Fermentation

. Biodegradation

. Isolate from huma pancreas

. Isolate from pancreas of othe
ranimals

C. Insuline gene inserted in humna
pancreas

D. Insulin gene inserted in bacteria

o

A. Insulin

B. Interferon

C. Beta endorphin
D. Quinine

A. Genes

B. Nucleotdes
C. Plasmids
D. Proteins



